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7 wil) kill(all);
(%00) done

7 (Wwil) E12: 2*c~2*kappa[0]*kappa[1]*cos(theta[3]) = 2*omega[0]*omega[1]-x
(%01) 2 kg kg COA03)C%=2 g @y - C2 X

7 (wi2) E13: E1272;

2
(%02) 43 % cos(83) c*=(2 wp w1 -C2 X)

7 (%i3) kO: sqrt((omega[0]/c)"2-x);

7 (wi4) El6a: ratsubst(kO, kappa[0], E13);

2
(%04) 43 cos(p5) c? [SZ—XJ:C“ X2 -4 oy 01 C% X+4 03 oF
7 (%i5) E16b: ratsubst(sqrt((omega[1]/c)"2-x), kappa[l], E16a);
2 2
(%05) 4 3 cos(p3) c2 [wz—x}4 cos(9;Y c* [w;—xJ x=Cc%x2-4 oy 01 €2 X+4 @3
C C
2

~ (%i6) E16: factor(E16b);
(%06) 4 COS(93)2(02 X—oxz)XC2 X-oﬁ)z(C2 X=-2 o 031)2

? (%17) E20: expand(E16);
(%07) 4 cos(03) c* x2-4 of cos(03) c2 X-4 o3 cos(03) C2 X+4 @3 wf cos(03)
=c4x2-4 Wy ™1 cZx+4 (,)(2) (,)%

? (%18) E23: solve(E20, x);

(%08) [x=-(2 009(93)\/(03411-2 03 w3+ 06)CO(03)F -2 wo wi+5 0 wi-2 v 0)1‘+
(-2 03-2 08)CoS(03 )7 +2 g @1 ) / ((4 cos(03)° - 1) c?) , x= (2 co(63)
\/(03411-2 08 i+ 0g)CoS(03Y -2 wy wi+5 wd v -2 vl 0)1‘+(2 03 +2 w8)cos(03) -2 o

1)/ (4 cox(03Y°-1)c?) ]

7 (%i9) assume(c>0, h[bar]>0);
(%09) [c>0,hp,>0]
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7 i10) m: (sqrt(E23*h[bar]~2/c"2));
hpar N/ X

010) [ = (sqrt(-(2 cos(63)

C

\/(0311_2 03 w3+ 06)CO(03)F -2 wo w3 +5 0 i -2 o 0)1‘+(-2 03 -2 03)cos(03)°+2 o
01) 7 (4 cos(03¥ -1)) hpar )/ c?, hba:: X:(Sqrt((Z cos(63)

\/(0311_2 03 w3+ 06)CO(03)F -2 wo w3 +5 0 i -2 o 0)1‘+(2 03 +2 03)cos(03) -2 o
1)/ (4c08(035~1)) hpar )/ 2]

2



